N = 0l & AF & F Al A

M Jl=X3 L
M ASESUE I JI=Xd
o9l S A5 U AEFLs (9@ 2)
SN HB G (BH) - MRAY - BES 0l & e Hlm= 2
Jl= X1t 10, 143,552 11,194,957 A 1,051,405
= 4,087,239
s 1,360,000
& 787,501
Al 3,908,812
AEEUE RAs JI=XA 10,018,922 11,088,808 A 1,069,886
= 4,087,239
s 1,360,000
& 787,501
Al 3,784,182
sit2 =5 2 A2 341,080 159,220 181,860
= 42,070
& 68,200
Al 230,810
SMUSASTMEAXA 5,400 3,420 1,980
= 5,400
202 Oidl 1,800 1,020 780
= 1,800
01 3L 1,800 1,020 780
O=sdtE2 ASZAH 24 1,800, 000& 1,800
- 1,800
301 YEtEa= 3,600 2,400 1,200
= 3,600
12 JIEI2 A2 3,600 2,400 1,200
OsdtE2 2SN 24 3,600,000& 3,600
= 3,600
sHZIHEE 22,400 16,800 5,600
= 16,000
= 3,200
Al 3,200
402 QIEXE01H 22,400 16,800 5,600
= 16,000
& 3,200
Al 3,200
01 QIZEXI22 X 22,400 16,800 5,600




M XA
M ASEUE I JI=Xd
o9 SAMS 3 U FHFEH Rk
SN S(B) - NRAY - B2 O] &k o8 e =2
O=sgZgAa&E XN& 22,400,000 22,400
= 16,000
= 3,200
Al 3,200
S&tE e-HIXILIA 4835 K& 22,400 9,000 13,400
= 11,200
Al 11,200
201 LprE3AH| 10,000 0 10,000
= 5,000
Al 5,000
01 AtE2teldl 10,000 0 10,000
OsatE e-HIRILIA 2435 X2
10,000,000& 10,000
= 5,000
Al 5,000
202 O4Hl 1,000 0 1,000
= 500
Al 500
01 3L 1,000 0 1,000
Os4&E e-HIXILIA 2453 K&
1,000, 000& 1,000
= 500
Al 500
206 M=l 2,000 0 2,000
= 1,000
Al 1,000
01 MZ 4l 2,000 0 2,000
Os4&2 e-HIXILA 2455 XA
2,000,000& 2,000
= 1,000
Al 1,000
301 Lptsazg 9,400 0 9,400
= 4,700
Al 4,700
10 FAIAHIEAS 9,400 0 9,400
Os&tE e-HIXILIA 2453 K&
9,400,000& 9,400




of
’J
oF
oJ

S 3 8 = 3 S 3 S S S
S S S ® 2 B B B & &
‘o 3 : 5 s - . : - . >
Klo T - -
E
=)
o o o o o o o o oS o
43l
<
KIS
(@) (@) o o o o o o (@) () () (@) (@] o (@] o [e] (@) () () (@) () o (e} (@] () (@) () () (e} (@] o (@) o (@)
S e|lg 88|88 8l 8§ 88| E |8 2 Bg 8§ BRl8a B Blg 8 BR|3E5EIR 8 B
|9 v vl v vl o W |l ® o|-— - = — - = ®» — — | o —
3
<
=
o= H = H = W = o= o= o= o= o= o= rir
o ! ! il
o o o o
o o o o
S S S S
ol g g g g
%0 = 2 3 &
Y EOJ A — ™
a1 .
< o
o o p Q) ] )
= =4 A_M ) ) 0
. it Rl Fd( W wdl
= o = i =) %0 %0
ol i~ d b i) ) i)
no | ll no W
- o W W o o
Y| P pd LA il 0 = 20 L
d ___mﬁ R 20 o w: ER: - & 3 )
- il < g0 i i R _ S R 5 P
Rl iy R i o) ) £ = 3l B < @
R0 <k ol a3 H 30 ol =z 0 3 oK ° wOH
. ] ~ © ) - © N © - ©
z < =] S 3D IS > S > Q =
I+ Ho H0




od
’J
oF
oJ

g g g |88 S1818 g |8 g8 g |8 |88
. o o > o | o | - s lg S lg MR
Ko <A 2|4
E
D
o o o o o o o () o (@)
S|818 S 3|8 818 8
©le|e = — |- SIS o
H3r
uiled!
KIS
(@] o o o o o o o o o o o o |o o o o o o o o (e} o o | o o o o o o o o
5|8 8 2|8 8 =/l g8 ¢g|glslg s |3|g|g 8 |8|8 § gl|8|g 8|8l ¢glg|8ls
o © d|lo o dl|lo o © aA|lwvw|lvl v N — |~ ol o o |o ol | |
[ O | O © — |~ —
3
<
=
= o= o= mr =
O or oF o 4 oK oF
S 3 3 3 S 3 3
3 3 3 3 38 3 3
or o o o o o o o
70 8 5] 3 3 8 8 8
Y o o 0 . 2 =
o mmv_ <0
5l M s O o
= z 5 A <
= o} %0 ._.ﬂAﬁ xr Mu
iy g 3 0
. 70 () K0 o k{0
= i %0 OF El ~
= o< - oxn i W
) w = ur * ) o
& = al R it & ) KA ak ™
) W Ko T U 5 H o o
v o o N m | < R o <0 ) H
y = ur o o |0 + | M W0 R0 K El
& S <z a % 0 ﬂ ) Al A
&0 ~ K I =g | 0o | © <+ Ko ol
5 © o o |m o | _ © O
x = SR p= &d 8 S
I+ Ho




SH: IS
HE: ASSHE 9lst IS
oo SM2 25 Y YB3 (el & 2)
5 o SIEN
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ol AF o8 HwsZ
CEEESE; 2,000,002 2,000
01 YuBAZ 2,400 2,000 400
10 BAAHIZ A3 2,400 2,000 400
OsUBN BY - THT DT BAT A
|2 A 1,200,0002 1,200
Osgol FEE TYSD DS FAKL &
|2 a 1,200,0002 1,200
SA2 FTAY 43,900 34,000 9,900
201 Lsr2y| 3,000 0 3,000
01 AR/t 3,000 0 3,000
CHIEIRS=Y] 3,000,000 3,000
206 Tl 2,000 1,000 1,000
01 =t 2,000 1,000 1,000
OFTANN =0t S42 B2 UL AIA K
279 2,000,0002 2,000
01 YsrBAZ 3,200 0 3,200
10 BAAHIZ A3 3,200 0 3,200
OAOIBSITE SHE U ATS ERES
AR 3,200,0002 3,200
307 eI2tolH 18,000 18,000 0
02 LIABNBE 18,000 18,000 0
OMNES(£BE) AHUERH XY
18,000, 0002 18,000
402 QIR+ OIF 17,700 5,000 12,700
NEEEEES 17,700 5,000 2,700
OsJt EHOIX ?EX & 3,000,0002 3,000
OMNANANE TR HL
5,000,0002 5,000
OFIAH AOIHS PSR EBHOIX R
NLabl Mg 7,200,0002 7,200
OFIAHH D2 T2 X2
2,500,0002 2,500
ALZFOLE M AF 5,476, 162 5,237,390 238,772
= 3,946,257
= 177,692
Al 1,352,213




SN JIEXNE D
M ASZUE 98 JlaXe
CHol: AlZFORE A A (Sl &
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
SN2 ENDIE MMDR |4 100,000 100,000 0
= 50,000
Al 50,000
201 Ysregy| 14,000 17,000 A3,000
= 7,000
Al 7,000
01 ARl 14,000 17,000 3,000
OEEtolA # M|z AlY 14,000,000} 14,000
= 7,000
Al 7,000
202 Ol 5,000 5,000 0
= 2,500
Al 2,500
01 =2UoIdl 5,000 5,000 0
OEEI0lA HMALK S4 5,000,000 5,000
= 2,500
Al 2,500
301 LerE AR 5,000 3,000 2,000
= 2,500
Al 2,500
10 BAIAHIZAZ 5,000 3,000 2,000
OE2t0lA MMAEX S 5,000,000%! 5,000
= 2,500
Al 2,500
402 QI2EXHZOIH 76,000 75,000 1,000
= 38,000
Al 38,000
01 QIAT=EE 76,000 75,000 1,000
OEEI0lA HMALT S4 76,000,0002 76,000
= 38,000
Al 38,000
DEIN IS 45,000 25,000 20,000
= 20,000
Al 25,000
402 QI2tXHEOIH 45,000 25,000 20,000




SH: IS
HE: ASSHE 9lst IS
Chl: AIZFORE A AL (5l &2
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
402 QIR 0| H = 20,000
Al 25,000
01 UANESxE 45,000 25,000 20,000
ODEE B AZHIAH 20,000,0002 20,000
= 7,500
Al 12,500
OZM2 HMMAH HAAY 25,000,0002 25,000
= 12,500
Al 12,500
DED WM AEOR XA 82,320 99,960 A17,640
= 30,870
Al 51,450
402 QIR+ 0IF 82,320 99,960 ~17,640
= 30,870
Al 51,450
RS 82,320 99,960 A17,640
ODNEBE MMM AYSHX T4
82,320,0002 82,320
= 30,870
Al 51,450
B HHE YA 48,910 22,500 26,410
= 15,630
Al 33,280
206 T2l 12,830 0 12,830
= 4,810
Al 8,020
T 12,830 0 12,830
o BHE IS 12,830, 0002 12,830
= 4,810
Al 8,020
402 QIR OIF 36,080 0 36,080
= 10,820
Al 25,260
RS 36,080 0 36,080
Ol BHE SSLHY X2 36,080, 0002 36,080




SM: JIEXH D
Mo ASSHE A8 LK
CHPl: AlZFOIE M A CLRE
_ _ HE T
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
< 10,820
Al 25,260
BASBHIHNE 3,618,557 3,618,557 0
= 3,618,557
201 er2o| 1,457 1,457 0
= 1,457
01 At 22l 1,457 1,457 0
OMASBHEE HIY| 1,457,0002! 1,457
= 1,457
202 OiHl 3,000 3,000 0
= 3,000
01 =Uhor| 3,000 3,000 0
ONASBHEE HIY| 3,000,00084 3,000
= 3,000
01 YAz 3,614, 100 3,614,100 0
= 3,614, 100
12 JIEtR A3 3,614, 100 3,614,100 0
ORASEHNE 2A3 3,614, 100,000% 3,614, 100
= 3,614, 100
VESH S2F SI1H IS 50,000 25,800 24,200
= 50,000
402 2I2FXHEOIF 50,000 25,800 24,200
= 50,000
01 oIAT=EE 50,000 25,800 24,200
OE2t0lA AIHEX BHtel X
50,000,000 50,000
= 50,000
B SR% 81 80,000 0 80,000
= 30,000
Al 50,000
402 DI2EXHEOIF 80,000 0 80,000
= 30,000
Al 50,000
01 SIAR=EEE 80,000 0 80,000
oH SR &3 80,000,000 80,000




2M: JlsX&
HdHM: ASSUHE /st =X
CHl: AlZFOLE M A LR
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
= 30,000
Al 50,000
U AHXIKHEAA 275,000 0 275,000
= 220,000
== 16,500
Al 38,500
402 QIZHXFE0| A 275,000 0 275,000
= 220,000
= 16,500
Al 38,500
01 QI2tX=2EX 275,000 0 275,000
oY HAEXEHEAE &4 275,000,000& 275,000
= 220,000
o= 16,500
Al 38,500
A SAIY 100,000 0 100,000
= 50,000
Al 50,000
402 QI2EXE0| M 100,000 0 100,000
= 50,000
Al 50,000
01 QI2tX=2E X 100,000 0 100,000
ODEE ¥ MuH B2 JISAY
100,000,000 100,000
= 50,000
Al 50,000
s s 29 15,400 0 15,400
= 7,700
Al 7,700
101 Q14 d| 11,138 0 11,138
= 5,569
Al 5,569
10 JIZHZ22XNEES 11,138 0 11,138
oOdois dtHta 29 11,138,000& 11,138
= 5,569
Al 5,569




SM: JIEXHED
Hul: ASEHE 98 JIEXR
CHOl: AIZFOLE M Al (649l &2
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
207 QTN Y] 1,962 0 1,962
=2 981
Al 981
03 A&7 1,962 0 1,962
CEL RPNt 1,962,0002 1,962
= 981
Al 981
01 YpRAS 300 0 300
= 150
Al 150
12 JIEISA= 300 0 300
oz oA 29 300,000 300
= 150
Al 150
405 TAHF S 2,000 0 2,000
= 1,000
Al 1,000
01 KAUSEHSH] 2,000 0 2,000
ogiE oA FHyPY 2,000,00084 2,000
= 1,000
Al 1,000
OHMES TaHLEA N 48,975 0 48,975
= 14,692
Al 34,283
301 YsrPA 48,975 0 48,975
= 14,692
Al 34,283
12 JIEEA= 48,975 0 48,975
OOIMES WA X 48,975,0002 48,975
= 14,692
Al 34,283
DED M MM 957,200 873,000 84,200
206 Mzl 1,000 1,000 0
01 M=ol 1,000 1,000 0
ogiE HEEE 2Y 1,000,000 1,000
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SA: JIEXRD
Hy: ASSHE P8 JENE
CHol: AIZFOLE M4l (S92l
_ _ _ Muo
SH-EH . S2(30) - MRAY - BES 0f Ao Sl e HRE2
301 YEtEa= 700 800 A100
10 BAIAHIENS 700 800 A 100
ODEBE MMM B} ZAT MEI2A
700, 000& 700
307 21201 10,000 0 10,000
02 QtFAE X 10,000 0 10,000
ODE 22U 5E YBLEUYI| X
10,000,000 10,000
402 2IHX=01M 945,500 871,200 74,300
01 PIA=EZE 945,500 871,200 74,300
ONEI MMM HEA HIZ X
600,000, 0002 600,000
OH 85 USHE 32 200,000,000& 200,000
o/ XA AIZAIE K& 42,500,000 42,500
og& maJl 7Y XA 10,000,000& 10,000
O=Y Holls2H XA 80,000,000& 80,000
OBEREE OSEMB(ELE) N
10,000,000 10,000
O ZIITHEHAIE 3,000, 0002 3,000
M TN 3,000 3,000 0
307 QI2t0IA 3,000 3,000 0
05 GIZtREZ 3,000 3,000 0
OXHoHCHHl OlHIRE & X 3,000, 000& 3,000
A=A ALY 51,800 27,800 24,000
207 Ao 21,800 27,800 26,000
03 AlE& 2| 21,800 27,800 26,000
O=s&g HE M 1,000,000& 1,000
OMasd &= ZH AY 1,000, 000& 1,000
=3 MEHAIY 4,800,000& 4,800
osFHZe| MATHH Al 9,000, 000& 9,000
OJlsd & THHHAIE 3,000,000& 3,000
OLNZE & SAMY 3,000,000& 3,000
402 2IHXE01M 30,000 0 30,000
EEEEES 30,000 0 30,000
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SA
X XH .
(=

chel:

- Col(3) - HRAY - BaS Aro e =2
O<RclY MAAIY 30,000,000 30,000
FTA == &< 35t 3,057,450 3,567,436 A 509,986
= 94,800
s 1,000,000
= 315,609
Al 1,647,041
NS ELE3 JI=gAre X 80,000 80,000 0
L= 40,000
Al 40,000
402 BIZ2HX =0l 80,000 80,000 0
& 40,000
Al 40,000
QI2tXt= 8 X 80,000 80,000 0
OB ATHIAL B3RS 3 MO AlE
80,000, 000& 80,000
< 40,000
Al 40,000
HAE ALY 700,000 700,000 0
s 500,000
= 60,000
Al 140,000
402 QIZEXE01H 700,000 697,000 3,000
s 500,000
& 60,000
Al 140,000
QI2tXt= 8 & 700,000 697,000 3,000
OUES WY =X IBANY B4
700,000,000& 700,000
500,000
= 60,000
Al 140,000
TESMSHEMIE 111,600 43,400 68,200
& 41,850
Al 69,750
402 QIZEXE01H 111,600 43,400 68,200
= 41,850




A J=XE 0

X ASEUE A Jl=Xd

S5l FTA 22 2215 (el al
_ _ _ Muo
SA - SR(E) - HRAY - BES 0 & 24 i HIRE
402 QIEX=01 M Al 69,750
01 BIZAR=Ex 111,600 43,400 68,200
OZHHYR +BLI| MNEK X4
40,000,000& 40,000
= 15,000
Al 25,000
OFEY +BSHS MANST HIIX AY
32,000,000& 32,000
= 12,000
Al 20,000
ORMABE 25018 +5LI| ©X =4
6,000,000& 6,000
== 2,250
Al 3,750
O+EST 0IMSSY AARH
12,000,000& 12,000
= 4,500
Al 7,500
oYM HSLH 2HY YK
15,200,000& 15,200
= 5,700
Al 9,500
O====Jt EA&IIA SHAY 6,400,000 6,400
= 2,400
Al 4,000
AMERN J=Es 73,600 96,200 A22,600
= 27,600
Al 46,000
402 2ItXGE=01M 73,600 91,200 A 17,600
= 27,600
Al 46,000
01 BIZtA=E=x 73,600 91,200 A17,600
OS2 HA UHSHH HH 2
32,000,000& 32,000
= 12,000
Al 20,000
ONSRI0 HEHEEX =520
16,000, 000& 16,000
= 6,000
Al 10,000




A JI=X3 1

HdHM: ASSUHE /st =X
o9l FTA 3= 2235 Rk
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
OAERAN HHYA HESEITH AlY
16,000, 000& 16,000
< 6,000
Al 10,000
OLMIEH AUHEE SN MY
9,600,000& 9,600
T 3,600
Al 6,000
U HRASSH XA 18,796 187,920 AN 169,124
= 9,398
= 3,759
Al 5,639
307 QIZtolA 18,796 187,920 N 169,124
= 9,398
== 3,759
Al 5,639
02 QI2HEAMNEX 18,796 187,920 N 169,124
O3 &Hl XS A 18,796,000 18,796
= 9,398
= 3,759
Al 5,639
Ss&=E MoH2E X2 85,000 85,000 0
= 35,000
Al 50,000
307 QI2tolA 85,000 85,000 0
& 35,000
Al 50,000
02 QI2HEAMNEX 85,000 85,000 0
O=&=2 MilEg= X 85,000,000& 85,000
< 35,000
Al 50,000
FTAXI & AHE ALY 3,000 0 3,000
= 3,000
202 o4l 1,500 0 1,500
= 1,500
01 =2WAbI 1,500 0 1,500




A JI=X3 1

M2 ASSHE A8 Iz
o9l FTA 22 22435 (50 &2
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
OXNYXEH > X 1,500,0002 1,500
2 1,500
01 YprEaZ 1,500 0 1,500
= 1,500
10 SAAHIZAS 1,500 0 1,500
ONYTEH S+ X2 1,500,0002 1,500
2 1,500
M2Rt SHlarS S 5 = 48,000 0 48,000
= 24,000
Al 24,000
402 QIR+ OIF 48,000 0 48,000
= 24,000
Al 24,000
01 PESxE 48,000 0 48,000
OBLTMAS 4Bst AlE 24,000, 0002! 24,000
= 12,000
Al 12,000
OUEZ U MBS NEES 24,000,0002! 24,000
= 12,000
Al 12,000
B EATHHH(SS M) AEAE 16,400 0 16,400
= 8,200
Al 8,200
402 QIR+ OIF 16,400 0 16,400
= 8,200
Al 8,200
01 PAREEE 16,400 0 16,400
ODE ZMTHH HBY DAy
16,400, 0002 16,400
= 8,200
Al 8,200
SEMASH 1,000,000 0 1,000,000
= 500,000
= 60,000
Al 440,000




A J=XE 0

M ASEUE R JI=XE
o9l FTA 3= 2235 k)
SN EE - ER(EN) - NRAY - BaS sl e HlRE2
201 Lt 40,000 40,000
s 20,000
= 2,400
Al 17,600
01 AtR2teld 40,000 40,000
OE==2d HOt&Z et 25
40,000,000 40,000
s 20,000
= 2,400
Al 17,600
207  SHFOHEH 110,000 110,000
s 55,000
& 6,600
Al 48,400
01 A&l 110,000 110,000
OgE=8d Hot2ad el=Zet 2=
110,000, 000& 110,000
55,000
< 6,600
Al 48,400
401 A& HIZL2OY| 650,000 650,000
s 325,000
= 39,000
Al 286,000
01 AlI&HI 635,115 635,115
oOgERH HOIZZ T 1S
635, 115,000& 635,115
s 317,558
= 38,107
Al 279,450
02 Zcltl 10,790 10,790
OYFEA HOIZY oTp 2=
650,000, 000& *1.66% 10,790
P 5,39
= 647
Al 4,748
03 AlZ=0Hd] 4,095 4,095




A J=XE 0

M ASEUE R JI=XE
o9l FTA 3= 2235 Rk
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
OBF=A HIOIEE ot 75
650,000, 000& *0.63% 4,095
Fas 2,047
= 246
Al 1,802
402 QIEXE01 M 200,000 0 200,000
s 100,000
= 12,000
Al 88,000
01 QUAR=2EX 200,000 0 200,000
OEFLH HOIZZ QZg 1&
200,000,000 200,000
s 100,000
= 12,000
Al 88,000
HOHEHSAE 85,000 0 85,000
= 42,500
Al 42,500
402 2IHX=01M 85,000 0 85,000
= 42,500
Al 42,500
01 QUAR=2EX 85,000 0 85,000
OBALES F2AZEIE S
15,000,000& 15,000
= 7,500
Al 7,500
OZJ ZLEINHES SIS MAHI MY
20,000, 000& 20,000
= 10,000
Al 10,000
OANAMA M3 THIIX Al
50,000,000& 50,000
= 25,000
Al 25,000
sitE2 SE1NSs MAET] =4 69,804 0 69,804
= 34,902
Al 34,902
402 2ItXGE01M 69,804 0 69,804




A JI=X3 1

M2 ASSHE A8 Iz
o9l FTA 22 22435 (50 &2
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
402 QIR 0| A = 34,902
Al 34,902
01 PRAEEE 69,804 0 69,804
OSZ2E MM AYSX =4
69,804, 0002 69,804
2 34,902
Al 34,902
MDlE RS X8 0,000 0 10,000
= 5,000
Al 5,000
101 Q12| 1,000 0 1,000
= 500
Al 500
EBIEDEED == 1,000 0 1,000
OUlIE YIRES Y 1,000,0002! 1,000
2 500
Al 500
202 Ol 600 0 600
=2 300
Al 300
01 =Lioit] 600 0 600
OllIE YIRES N 60,0002 600
2 300
Al 300
402 QIR+ OIF 8,400 0 8,400
= 4,200
Al 4,200
01 A= E 8,400 0 8,400
OMIIEAE N HPEE X
8,400,00024 8,400
2 4,200
Al 4,200
GEIN-IOVRESE 17,500 0 17,500
= 7,000
Al 10,500
402 QIR+ OIF 17,500 0 17,500




A JI=X3 1

M2 ASSHE A8 Iz
Sl FTA 32 2235 (50 &2
SH-EH . C(BH) - NRAY - BES 0ff &+ o4 gggig Hnz2
402 QIR OIF = 7,000
Al 10,500
01 PRAEEE 7,500 0 17,500
OSHFIAILE S h3H2H ) 17,500, 00021 17,500
= 7,000
Al 10,500
SHEIRERENM 14,250 0 14,250
& 5,700
Al 8,550
402 QIR+ OIF 14,250 0 14,250
= 5,700
Al 8,550
NEEEEES 14,250 0 14,250
OSFRSAE L HHIHS 14,250,0002! 14,250
= 5,700
Al 8,550
ANHSAULHE NCZLARY 5,000 0 5,000
= 2,500
Al 2,500
202 01l 5,000 0 5,000
= 2,500
Al 2,500
04 =IStoit] 5,000 0 5,000
ORNHESIALEE NTT2Y B4
5,000,0002! 5,000
= 2,500
Al 2,500
FIASS 225 Al 219,500 56,000 63,500
201 Lpr2y| 3,000 5,000 A2,000
01 AFR2elt] 3,000 0 3,000
oYxz 3,000,00024 3,000
206 THEH] 1,000 0 1,000
01 M=t 1,000 0 1,000
OSE8XZ VAN X2 1,000,0002! 1,000
01 YsrEaZ 1,400 2,000 2600
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A J=XE 0

X ASEUE A Jl=Xd

SHel: FTA 32 223 (Er9): & 2
_ _ SIEN
SA-BH - OA(B) - HRAY - BE2 Ofl &k 04 0l At o HlmE 2
DEEIErE] 1,400 2,000 2600
O&u =20 &= Btz 1,400,000& 1,400
307 QIZ2told 5,000 2,500 2,500
04 BQIZSHAIE X 5,000 0 5,000
OM3s CHAUHHHAEY 5,000,000& 5,000
402 QIEE01M 209,100 46,500 162,600
01 BlIAX=Ex 209,100 46,500 162,600
OOtz SHAHUIE 2HAE A
7,000,000& 7,000
OmI| 40 20| AL HIIAL
30,000,000%! 30,000
O®EIM G AE Z0Hs B3 Al 28,100
oXZlts SAZE 29 5,000,000 5,000
cRBOMS(ENES 20 123
12,500, 000& 12,500
oZ0ts Z220 28I 7Y
5,600,000& 5,600
oZOis - DROIED| =g ASHES o
X =4 5,000,000& 5,000
28 NMS(EWSYN 28 DI4S Y
Il A 21,000,000& 21,000
OFTATIS 2% S ®IIIS 23 AY
50,000,000& 50,000
OIISH t =X 23 MY
45,000, 0002 45,000
ORs% H22 EY 8% AY
28,000,000 28,000
=28 HOt2& et 5 500,000 0 500,000
401 AIEHIZSOYI 500,000 0 500,000
L 500,000 0 500,000
OUFTH HOIBY oTet P
500,000,000& 500,000
s4E FSHA HA 1,144,230 2,124,762 A980,532
= 4,112
2 360,000
S 226,000
A 554,118
&=zel 3,712 3,858 A 146

_20_




M XA
M ASEUE I JI=Xd
el satE RSHA N (el &)
SN EE - ER(EN) - NRAY - BaS sl e HlRE2
&g 2e| = 3,712
201 BH2EH] 1,496 1,506 A10
= 1,496
01 AtR2teld 1,496 1,506 A10
o= z2tel 1,496,000& 1,496
= 1,496
202 O4dl 2,216 2,352 A 136
= 2,216
01 =LAl 2,216 2,352 A 136
o= z2tel 2,216,000& 2,216
= 2,216
HASE R oHE A 2,000 2,000 0
& 1,000
Al 1,000
201 LEHRHH| 2,000 2,000 0
= 1,000
Al 1,000
01 AtR2&cldl 2,000 2,000 0
Osd=E otd 2,000, 000& 2,000
= 1,000
Al 1,000
stESM RIS 630,000 1,400,000 AT770,000
s 360,000
= 135,000
Al 135,000
402 2ItX=01M 630,000 1,400,000 AT770,000
s 360,000
= 135,000
Al 135,000
01 Q2= x 630,000 1,400,000 A770,000
Osds MRS 630,000,000& 630,000
360,000
= 135,000
Al 135,000
sHE RSAME X 40,000 101,000 A61,000
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M XA
M ASSUE Qs JI&sXH
ol S42 RS KA (chol: w2
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
sHE SSAE X S 40,000
402 QIZEXE0|M 40,000 101,000 261,000
& 40,000
01 QUAR=2EX 40,000 101,000 261,000
ORY sa2 M D U HEE 2
40,000,000& 40,000
= 40,000
Lesbts 2elME(GAP) K& 400 0 400
2 400
202 Od4Hl 400 0 400
= 400
01 =2LUAbI 400 0 400
ORa+=42 22| M S (GAP) X & 400,000 400
= 400
2 JtSAlE X 50,000 0 50,000
L= 50,000
402 QIZEXE01H 50,000 0 50,000
= 50,000
01 QtR=8=x 50,000 0 50,000
O& F=2elH JIBAE X3 50,000,000& 50,000
= 50,000
Feel B &zl K& 39,000 40,000 A 1,000
201 ZEH2IH] 29,000 30,000 A 1,000
03 @At2EH| 29,000 30,000 21,000
OFeeldd Stt= =&3 N
29,000,000 29,000
301 YBtEa= 10,000 10,000 0
10 BAIAHIEANS 10,000 10,000 0
OFcelZ SMS %23l X2
10,000,000& 10,000
sHtE SSAE X 50,000 100,000 250,000
402 QI2EGE01M 50,000 100,000 A50,000
01 QtR=8=x 50,000 100,000 A 50,000
OB L BSHBY AYXL
50,000,000& 50,000
sttt FSXE 119,018 101,054 17,964
|
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SH: IS
M#: ASEHE 98 J=T
ool =42 SEMH N (5l &2
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot Hws2
201 LPr2y| 9., 180 83,900 12,280
01 At 22l 82,200 72,700 9,500
oer4gY| 71,500
oX2l® EAH S5 g9y
60,000,0008! 60,000
oJIEt8H| 11,500,000 11,500
oYtz 8,700, 0002 8,700
CEET 2,000,00024 2,000
00 B2 13,980 11,200 2,780
OZZRIYLHA 1,980,0002! 1,980
CNPEETIEST] 6,000, 0002 6,000
O Xt 4| 6,000,000 6,000
202 Ofl 10,738 10,154 584
01 =0l 10,738 10,154 584
ORAET Y| 10,738, 0002! 10,738
203 AREXY| 3,000 2,000 1,000
038 ANEFZAL=Y| 3,000 2,000 1,000
OsME +5 L FYFB YR
1,000,0002! 1,000
0542 SEMHMNE YR=X
2,000, 0002 2,000
206 MRl 2,000 0 2,000
01 M=t 2,000 0 2,000
O N2 BAFEIL AIA TH2Y
2,000,0002! 2,000
01 YprBAZ 2,100 0 2,100
10 BAAHIZAS 2,100 0 2,100
OR+SME MIHZH HoIsIH AUl
o 2,100,0002 2,100
307 QI2H0IF 5,000 5,000 0
EIEIETRI=E S 5,000 5,000 0
OR+s42 Y AL 5,000, 0002 5,000
S4Z2 RASG XS 210,100 142,000 68, 100
206 Mzl 5,000 0 5,000
T 5,000 0 5,000
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SN IEXRD
B ASZUE I8 JISK R
Sl SAE RS N (5l &2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES Off &F oA il i~ o Hnz2
OZ=ZTHIZ0 HYS % YUYl N
5,000,000% 5,000
01 YerEAS 2,100 0 2,100
10 BANHENZ 2,100 0 2,100
OZTTHIS0IZ K sE2L T3 X
2 2,100,000% 2,100
402 PI2EXHE0|H 203,000 142,000 61,000
01 SIAXEEE 203,000 142,000 61,000
OsMZ SHAE 2321, 28 X
180,000, 0002 80,000
osz=eM TH KL 3,000,000% 3,000
OsSHZ2 ABOBIY X2 20,000,000% 20,000
HHSAZH (OIS D) 124,630 106, 149 18,481
ol 2] 79,430 65,549 13,881
ol 2| 79,430 65,549 13,881
101 oI24H] 75,230 61,349 13,881
2 +¢ 56,949 61,349 A4,400
OZA224+Y 56,949
oX T 9,603 * 12 x40A| 2t+ 128 4,610
=62 8,312 %12 x40A] 24+ 122 3,990
o732 7,457 522 »40A] 24+ 128 7,159
o XAt 41,190
—215 2014  7,801R*11Z*40AI2H+122 41,190
09 RIHAZZXES 18,281 0 8,281
Os2IE™2aH(1Y) 18,281
EPIEE 41,7809 #1% #2552 10,654
o802 10,654, 000! *4/12 3,552
cR&IIAT 10,654, 00024 10% 1,066
cR35L+Y 41,7809 *1% #5224 2,173
PR 41,7809 %1% %202 836
203 ARFXY| 4,200 4,200 0
04 SNSILLFAY| 4,200 4,200 0
ORA2Y YL 350,0002! *122 4,200
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SH: IIENAD
HH: #™2AAY (OlZNA D)
ool JI= | (el &2)
_ _ HE T
SN FHH S (3H) - HREAY - BES Ofl &+ 04 Sl ko HRs2
Jl=2&Hl 45,200 40,600 4,600
Jl=23| 45,200 40,600 4,600
201 Lsre | 8,200 7,000 1,200
01 AtE2teltl 7,000 6,200 800
CHEES-11 5,000,000% 5,000
OF=i=4:] 2,000, 000& 2,000
02 2232944l 1,200 800 400
©fak=2:] 1,200,000& 1,200
202 Oddl 36,000 33,600 2,400
01 SLAHbI 36,000 33,600 2,400
OBUEZOiHI 36,000,002 36,000
405 XrarE Sl 1,000 0 1,000
01 L =ESHSHI 1,000 0 1,000
oA FIITY 1,000,0002! 1,000
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